
G E N U I N E A L C O A T R U C K W H E E L

2 0 0 0



ALCOA NUT COVERS - HEAVY DUTY TRUCKS

P/N Cat. No. Description

000180 001801 For 33mm hex, 2-piece flange
nut for buses; 600 Pcs/Cs

000180 001802 For 33mm hex, 2-piece flange nut
for buses; 40 Bxs (400 Pcs/Cs) 

P/N Cat. No. Description

000150 001501 For 1-1/2" hex, ball seat nut, 
chrome plated; 600 Pcs/Cs

000150 001502 For 1-1/2" hex, ball seat nut, 
chrome plated; 40 Bxs (400 Pcs/Cs)

000150 015051 For 1-1/2" hex, ball seat nut,
glossy white; 600 Pcs/Cs

FOR 1-1/2" HEX NUT (BALL SEAT, STUD LOCATED WHEELS)

P/N Description

000155 For 1-1/2" hex, ball seat nut, chrome 
plated (screw-on) with clamp; 400 Pcs/Cs

00155C Interlocking Clamp (Replacements); 
10 Bags (100 Pcs/Cs)

FOR 1-1/2" HEX NUT (BALL SEAT, STUD LOCATED WHEELS)

FOR 33mm HEX 2-PIECE FLANGE NUT WITH HEIGHTS OF .886-1.000" (HUB PILOTED WHEELS) 

2-3 . . . . Alcoa Nut Covers - Heavy Duty Trucks

4-5 . . . . Hub Cover System Wheel Kits - Heavy Duty Trucks

5 . . . . . . Wheel Cap Nuts (Fasteners) - Heavy Duty Trucks

6 . . . . . . DiscMate Wheel Spacer

6 . . . . . . Valve Stems

6 . . . . . . Valve Stem Extensions

6 . . . . . . Valve Stem Extension Stabilizer

6 . . . . . . Valve Stem Extension Stabilizer Sets

7 . . . . . . Air Chuck and Service Gauge

7 . . . . . . Double Seal Valve Cap

7 . . . . . . Alcoa Nut Covers - Light Trucks and RVS

7 . . . . . . Cap Nut Covers For 16" Single Wheels - Light Trucks

7-8 . . . . Wheel Cap Nuts (Fasteners) - Light Trucks

8 . . . . . . Axle End Covers - Light Trucks

TABLE OF CONTENTSStrength. Shine. Personal style. That’s what
Alcoa forged aluminum wheels add to your
vehicle. And nothing else adds to the brilliant
good looks of your Alcoa wheels like genuine
Alcoa accessories. We designed our line of
accessories for durability, corrosion resistance,
firm fit and looks that last. 

Whether you drive a heavy duty truck, bus,
motorhome, RV, sport utility vehicle or pickup,
you can complement the look with Alcoa 
accessories. Give your work vehicle a brighter,
more professional appearance. Create a 
distinctive look that reflects your own style.
Choose from axle end covers, Hug-A-Lug nut
covers, Hub Cover Systems and more. 

Nothing looks as good on your vehicle as 
Alcoa forged aluminum wheels - and genuine
Alcoa accessories.

ALCOA TRUCK WHEEL ACCESSORIES

2



RETAIL PACK FOR 1-1/2" HEX NUT (BALL SEAT, STUD LOCATED WHEELS)

FOR 33mm HEX 2-PIECE FLANGE NUT WITH HEIGHTS OF 27-31mm (HUB PILOTED WHEELS)

P/N Cat. No. Description

000181 001811 For 33mm hex, 2-piece flange
nut for trucks; 600 Pcs/Cs

000181 001812 For 33mm hex, 2-piece flange nut
for trucks; 40 Bxs (400 Pcs/Cs)

FOR 1-1/2" HEX 2-PIECE FLANGE NUT WITH A HEIGHT OF 1-7/16" (HUB PILOTED WHEELS)

P/N Cat. No. Description

000182 001821 For 1-1/2" hex, 2-piece flange
nut for trucks; 600 Pcs/Cs

000182 001822 For 1-1/2" hex, 2-piece flange nut
for trucks; 50 Bxs (400 Pcs/Cs)

FOR 1-1/2" HEX 2-PIECE FLANGE NUT WITH A HEIGHT OF 7/8" (HUB PILOTED WHEELS)

FOR 33mm HEX 2-PIECE FLANGE NUT WITH HEIGHTS OF 27-31mm (HUB PILOTED WHEELS)

P/N Cat. No. Description

000183 001831 For 1-1/2" hex, 2-piece flange
nut for buses; 600 Pcs/Cs

000183 001832 For 1-1/2" hex, 2-piece flange nut
for buses; 50 Bxs (400 Pcs/Cs)

P/N Description

000188 For 33mm hex, 2-piece flange nut for trucks
(screw-on) with clamp; (400 Pcs/Cs)

00188C Interlocking Clamp (Replacement);
10 Bags (100 Pcs/Cs)

P/N Cat. No. Description

000150 001503 For 1-1/2" hex, ball  
seat nut; 10 Pks (100 Pcs/Cs)

RETAIL PACK FOR 33mm HEX FLANGE NUT WITH HEIGHTS OF 27-31mm (HUB PILOTED WHEELS)

P/N Cat. No. Description

000181 001813 For 33mm hex, 2-piece flange nut
for trucks; 10 Pks (100 Pcs/Cs)

3



HUB COVER SYSTEM WHEEL KIT FOR HUB PILOTED STEER WHEELS

P/N Description

077155 Drive wheel kit for 10-hole ball seat wheels 
(screw-on Hug-A-Lugs with clamps); 4 Kits/Cs

077005 Drive wheel kit for 10-hole ball seat wheels 
(screw-on Hug-A-Lugs with clamps); 2 Kits/Bx

P/N Description

076188 Steer wheel kit for 10-hole hub-piloted wheels 
(screw-on Hug-A-Lugs with clamps); 8 Kits/Cs

076008 Steer wheel kit for 10-hole hub pilot wheels 
(screw-on Hug-A-Lugs with clamps); 2 Kits/Bx

HUB COVER SYSTEM WHEEL KIT FOR HUB PILOTED DRIVE WHEELS

P/N Description

077188 Drive wheel kit for 10-hole hub-piloted wheels 
(screw-on Hug-A-Lugs with clamps); 4 Kits/Cs

077008 Drive wheel kit for 10-hole hub pilot wheels 
(screw-on Hug-A-Lugs with clamps); 2 Kits/Bx

HUB COVER SYSTEM KIT FOR BALL SEAT DRIVE WHEELS

HUB COVER SYSTEM WHEEL KITS - HEAVY DUTY TRUCKS
HUB COVER SYSTEM KIT FOR BALL SEAT STEER WHEELS

P/N Description

076155 Steer wheel kit for 10-hole ball seat wheels 
(screw-on Hug-A-Lugs with clamps); 8 Kits/Cs

076005 Steer wheel kit for 10-hole ball seat wheels 
(screw-on Hug-A-Lugs with clamps); 2 Kits/Bx

HUB COVERS

P/N Description

076100 Front axle cover for interlocking Hub
Cover System; 128 Pcs/Cs

077100 Rear axle cover for interlocking Hub
Cover System; 48 Pcs/Cs

4



INNER CAP NUTS (FOR BALL SEAT WHEELS)

OUTER CAP NUTS (FOR 2-PIECE FLANGE NUTS - HUB PILOTED WHEELS)

P/N Cat. No. Description

5995L 599501 3/4"-16 (Ball Seat); 100 Pcs/Cs

5995R 599502 3/4"-16 (Ball Seat); 100 Pcs/Cs 

5996L 599601 1-1/8"-16 (Ball Seat); 100 Pcs/Cs

5996R 599602 1-1/8"-16 (Ball Seat); 100 Pcs/Cs

P/N Cat. No. Description

5988L 598801 3/4"-16 I.D. x 1 1/8"-16 O.D. 
Alum. inner/Alum.outer apps.

5988R 598802 3/4"-16 I.D. x 1 1/8"-16 O.D. 
Alum. inner/Alum. outer apps.

7896L 789601 3/4"-16 I.D. x 1 1/8"-16 O.D. 
Steel inner/Alum. outer apps.

7896R 789602 3/4"-16 I.D. x 1 1/8"-16 O.D. 
Steel inner/Alum. outer apps.

P/N Cat. No. Description

039701 039701 M22-1.5, 33mm hex; 100 Pcs/Cs 

4306.32 430632 M22-1.5, 33mm hex 32mm
bolt hole singles; 100 Pcs/Cs

4307.32 430732 M22-1.5, 33 mm hex 32mm
bolt hole singles; 100 Pcs/Cs

OUTER CAP NUTS (FOR BALL SEAT WHEELS)

P/N Description

000500 Cap nut cover wrench for
Ball Seat Hug-A-Lugs; 100 Pcs/Cs 

000600 Cap nut cover wrench for
Hub Pilot Hug-A-Lugs; 100 Pcs/Cs

HUB COVER SYSTEM CAP NUT COVER WRENCH

WHEEL CAP NUTS (FASTENERS) - HEAVY DUTY TRUCKS

5



Hub Covers

VALVE STEM EXTENSION STABILIZER SETS 
(CONTAINS TWO VALVE STEM EXTENSIONS AND TWO STABILIZERS)

DISCMATETM WHEEL SPACER
DISCMATE WHEEL SPACER

VALVE STEMS

VALVE STEM EXTENSION STABILIZER

P/N Cat. No. Description

TR509 000509 90o Bend - 4.75" Long; 200 Pcs/Cs

TR511 000511 90o Bend - 4.25" Long; 200 Pcs/Cs

TR542 005420 Straight - 1.26" Long; 200 Pcs/Cs

TR543A 005430 Straight - 2.31" Long; 200 Pcs/Cs

TR543C 005433 45o Bend - 1.38" Long; 200 Pcs/Cs

TR543D 005434 60o Bend - 1.38" Long; 200 Pcs/Cs

TR543E 005435 75o Bend - 1.38" Long; 200 Pcs/Cs

TR544D 005444 60o Bend - 1.94" Long; 200 Pcs/Cs

TR545D 005454 60o Bend - 2.60" Long; 200 Pcs/Cs

TR545E 005455 75o Bend - 2.60" Long; 200 Pcs/Cs

60MS27N 006027 27o Bend - 55mm Long; 200 Pcs/Cs

P/N Description

002125 1.50" dia., center hole; 200 Pcs/Cs

002126 1.50" dia., off-center hole; 200 Pcs/Cs

002127 1.50" dia., center hole; 200 Pcs/Cs

002225 2.00" dia., center hole; 200 Pcs/Cs

002227 2.50" dia., center hole; 200 Pcs/Cs 

002245 2.19" dia., off-center hole; 200 Pcs/Cs

002246 Peterbilt oval, center hole; 200 Pcs/Cs

002247 2.38" dia., off-center hole; 200 Pcs/Cs

VALVE STEM EXTENSIONS

P/N Description

HE392 5-1/8" Standard; 200 Pcs/Cs
P/N Description

125392 For 1.5" dia. hand hole, valve stem
dia. 0.330", center hole; 50 Pks/Cs

126392 For 1.5" dia. hand hole,valve stem
 dia. 0.330",off-center hole; 50 Pks/Cs

127392 For 1.5" dia. hand hole, valve stem
 dia. 0.330", center hole; 50 Pks/Cs

225392 For 2.00" dia. hand hole, valve stem
 dia. 0.330", center hole; 50 Pks/Cs

227392 For 2.50" dia. hand hole, valve stem 
 dia. 0.330", center hole; 50 Pks/Cs

245392 For 2.19" dia. hand hole, valve stem
 dia. 0.330", off-center hole; 50 Pks/Cs

246392 For Peterbilt stylized oval 
hand hole wheels; 50 Pks/Cs

247392 For 2.38" dia. hand hole, valve stem 
 dia. 0.330", off-center hole; 50 Pks/Cs

P/N Description

011000 10 on 285.75mm Hub Pilot 22mm studs; 100 Pcs/Cs

012000 8 on 275mm 20mm studs; 100 Pcs/Cs

013000 10 on 335mm 22mm studs; 100 Pcs/Cs

014000 8 on 275mm 22mm studs; 100 Pcs/Cs

015000 10 on 11-1/4" US bus mount 7/8" studs; 100 Pcs/Cs

016000 10 on 11-1/4" stud mount 3/4" studs; 100 Pcs/Cs

017000 10 on 11-1/4" stud mount 1-1/8" studs; 100 Pcs/Cs

018000 10 on 335mm 32mm sleeved 22mm studs; 100 Pcs/Cs

6



LOCK-ON AIR CHUCK AND SERVICE GAUGE

AIR CHUCK AND SERVICE GAUGE

P/N Cat. No. Description

CH370L 003700 Air Chuck - 180 deg. rev.
angle 6" long; 50 Pcs/Cs

GA1850 001805 Service Gauge - 180 deg.
rev. angle; 100 Pcs/Cs

DOUBLE SEAL VALVE CAP

P/N Cat. No. Description

DS1000 001009 Double seal cap; 50 Pcs/Bx

DOUBLE SEAL VALVE CAP

CAP NUT COVERS FOR 16" SINGLE WHEELS - LIGHT TRUCKS

FOR 60o CONE SEAT CAP NUTS (FOR 16" SINGLE WHEELS - LIGHT TRUCKS

P/N Description

000078 2.125" tall, fits hex height of 0.96"
(Alcoa P/N 5xxx nuts); 100 Pcs/Cs

000079 1.525" tall, fits hex height of 0.96"
(Alcoa P/N 5xxx nuts); 100 Pcs/Cs

ALCOA NUT COVERS - LIGHT TRUCKS & RVS
HUG-A-LUG NUT COVERS FOR 2 PIECE FLANGE NUTS (P/N x39xxx)

P/N Cat. No. Description

000190 019001 Hug-A-Lug nut covers for 2-piece
flange nuts (P/N x39xxx); 600 Pcs/Cs

000190 019003 Hug-A-Lug nut covers for 2-piece 
flange nuts (P/N x39xxx); 100 Pcs/Cs

P/N Description

005012 M12-1.5 (internal thread); 100 Pcs/Cs

005014 M14-1.5 (internal thread); 100 Pcs/Cs

005120 1/2"-20 (internal thread); 100 Pcs/Cs

005716 7/16"-20 (internal thread); 100 Pcs/Cs

005916 9/16"-20 (internal thread); 100 Pcs/Cs

60o CONE SEAT CAP NUTS (FOR STUD LOCATED 16x7 WHEELS)

7



P/N Description

004611 Front dualie cover, w/ medallion for Ford
(8 on 170mm bolt circle); 8 Pcs/Cs

004612 Rear dualie cover, w/ medallion for Ford
(8 on 170mm bolt circle); 8 Pcs/Cs

001611 Front dualie cover, w/ medallion
(for 8-hole), 1.125" long; 8 Pcs/Cs

001612 Rear dualie cover, w/ medallion
(for 8-hole), 4.750" long; 8 Pcs/Cs

001681 Front dualie cover, 8-hole, 4.75"
long, 3.50" open end; 8 Pcs/Cs

002167 Center cover, 5.875" long, w/ medallion; 8 Pcs/Cs

003167 Center cover, 4.7" long, w/medallion; 8 Pcs/Cs

003267 Front cover, w/medallion 2.00" long; 8 Pcs/Cs

003611 Front dualie cover, w/ medallion 1.125" long; 8 Pcs/Cs

003612 Rear dualie cover, w/medallion 4.750" long; 8 Pcs/Cs

004167 Center cover, 4.0" long, w/ medallion; 8 Pcs/Cs

AXLE END COVERS

P/N Description

005167 Center cover, 4.15" long, straight 
side w/medallion; 8 Pcs/Cs

005267 Front cover, w/ medallion 2.00" long; 8 Pcs/Cs

006167 Center cover, 4.0" long, 3.5" open end; 8 Pcs/Cs
  

007167 Center cover, 4.0" long, 
bullet shape w/ medallion; 8 Pcs/Cs

008167 Open end axle cover 4.49", 4.65" long; 8 Pcs/Cs

009167 Center cover, 3.09" long, w/ medallion; 8 Pcs/Cs

009267 Front cover, w/ medallion 2.00" long; 8 Pcs/Cs

011167 Center cover, 3.688" high 2.90" open end; 8 Pcs/Cs

011911 Front dualie cover, w/ medallion
(for 10-hole), 1.63" long; 8 Pcs/Cs

011912 Rear dualie cover, w/ medallion
(for 10-hole), 5.53" long; 8 Pcs/Cs

012167 Center cover, 2.86" long, bullet 
shape w/ medallion; 8 Pcs/Cs

AXLE END COVERS - LIGHT TRUCKS

2-PIECE FLANGE NUTS (FOR HUB PILOTED 16x6 WHEELS AND SOME 19.5" RV WHEELS)

P/N Description

139987 9/16" x 18, 1.050" hex; 100 Pcs/Cs

139698 M14 x 1.5, 1.050" hex; 100 Pcs/Cs

039946 5/8" x 18, 1.050" hex; 100 Pcs/Cs

139799 M14 x 2.0, 1.050" hex for Ford; 100 Pcs/Cs

Alcoa, Inc.
Wheel Products International

1600 Harvard Ave., Cleveland, OH 44105
Tel: 800-242-9898 

Alcoa Inter-America, Inc.
115-A Matheson Blvd., West, Suite 207
Mississauga, Ontario, Canada L5R 3L1
Tel: 800-668-1150

www.alcoawheels.com
8

03/00/50M


